[N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

a »
<@ o
° =
g 3
2 E
= 7]
& 8102
F g
v
10
o +wi i l o v
N | :
e 1 x
1l | ERRE RN
| | .
=25-20-15-10 -5 0 5 10 15 20 25 05 =50-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__CMSSW_mkt50i7_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i8_RECO

[N of sim] —— DQM_V0001_R000000001__Global__CMSSW_mkit50i9_RECO
1] 1J
< a
S =
£ :
o
g 2102
x 1%}
[5] c
3 S
= 3
x
10
2 i I g+
=1 I i =1
o """"‘1""""‘l"‘HHH:H”H”HM”MH”Hw: 2
. AR NERRE] ERER
=1-0.8-0.6-0.4-02 0 0.204 0608 1 -1-0.8-0.6-04-02 0 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} [
<2 N o
] . [=
L S S 2
2 + g
= . g
8 0% FEERES freeeeeens RS S 10
= : 3
: o
Do S S AP .
i ﬁfH f”’”" ‘**”**#*n A
Ll i }
o L 1
g :
e Il
i i)
%930 20 0 10 20 30 0¥ 20 -i0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
o o
L =
510° B
2 E
x [%]
§ 10° 15 102
= 3
i3
10?
10
il
0w ! !
© . H
= il :
1 :
0T 05 08T 05

0.5 1 . 0 0.5 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


